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Производство серной кислоты: 
первая стадия

4FeS2 + 11O2 = 8SO2 + 2Fe2O3

+Q   - V(P) 

вода

воздух

пирит

огарок

Реактор
«Печь для обжига в 
кипящем слое»

На главную



Циклон

Производство 
серной кислоты: 
вторая стадия

На главную



Производство 
серной кислоты: 
вторая стадия

Электрофильтр

На главную



Производство 
серной кислоты: 
вторая стадия

Сушильная башня

На главную



Производство серной кислоты: 
вторая стадия

2SO2 + O2 ↔ 2SO3

+Q - V(P) 

Контактный 
аппарат

На главную



Производство серной кислоты: 
третья стадия

SO3 + H2O ↔ H2SO4

+Q - V(P) 

Поглотительная 
башня

На главную


